

VANDERBILT UNIVERSITY, MATH 2300-04, F 20
EXAMPLES OF SECTION 12.3

MARCELO M. DISCONZI

Question 1. Let $\mathbf{v}_1, \mathbf{v}_2,$ and \mathbf{v}_3 be non-zero vectors in \mathbb{R}^3 . Define

$$\begin{aligned}\mathbf{u}_1 &= \mathbf{v}_1, \\ \mathbf{u}_2 &= \mathbf{v}_2 - \frac{\mathbf{u}_1 \cdot \mathbf{v}_2}{\mathbf{u}_1 \cdot \mathbf{u}_1} \mathbf{u}_1, \\ \mathbf{u}_3 &= \mathbf{v}_3 - \frac{\mathbf{u}_1 \cdot \mathbf{v}_3}{\mathbf{u}_1 \cdot \mathbf{u}_1} \mathbf{u}_1 - \frac{\mathbf{u}_2 \cdot \mathbf{v}_3}{\mathbf{u}_2 \cdot \mathbf{u}_2} \mathbf{u}_2.\end{aligned}$$

Show that $\mathbf{u}_i \cdot \mathbf{u}_j = 0$ if $i \neq j$.

Solution 1. Let us compute,

$$\begin{aligned}\mathbf{u}_1 \cdot \mathbf{u}_2 &= \mathbf{u}_1 \cdot \left(\mathbf{v}_2 - \frac{\mathbf{u}_1 \cdot \mathbf{v}_2}{\mathbf{u}_1 \cdot \mathbf{u}_1} \mathbf{u}_1 \right) \\ &= \mathbf{u}_1 \cdot \mathbf{v}_2 - \frac{\mathbf{u}_1 \cdot \mathbf{v}_2}{\mathbf{u}_1 \cdot \mathbf{u}_1} \mathbf{u}_1 \cdot \mathbf{u}_1 \\ &= \mathbf{u}_1 \cdot \mathbf{v}_2 - \mathbf{u}_1 \cdot \mathbf{v}_2 \\ &= 0,\end{aligned}$$

and

$$\begin{aligned}\mathbf{u}_1 \cdot \mathbf{u}_3 &= \mathbf{u}_1 \cdot \left(\mathbf{v}_3 - \frac{\mathbf{u}_1 \cdot \mathbf{v}_3}{\mathbf{u}_1 \cdot \mathbf{u}_1} \mathbf{u}_1 - \frac{\mathbf{u}_2 \cdot \mathbf{v}_3}{\mathbf{u}_2 \cdot \mathbf{u}_2} \mathbf{u}_2 \right) \\ &= \mathbf{u}_1 \cdot \mathbf{v}_3 - \frac{\mathbf{u}_1 \cdot \mathbf{v}_3}{\mathbf{u}_1 \cdot \mathbf{u}_1} \mathbf{u}_1 \cdot \mathbf{u}_1 - \frac{\mathbf{u}_2 \cdot \mathbf{v}_3}{\mathbf{u}_2 \cdot \mathbf{u}_2} \underbrace{\mathbf{u}_1 \cdot \mathbf{u}_2}_{=0} \\ &= \mathbf{u}_1 \cdot \mathbf{v}_3 - \frac{\mathbf{u}_1 \cdot \mathbf{v}_3}{\mathbf{u}_1 \cdot \mathbf{u}_1} \mathbf{u}_1 \cdot \mathbf{u}_1 \\ &= \mathbf{u}_1 \cdot \mathbf{v}_3 - \mathbf{u}_1 \cdot \mathbf{v}_3 \\ &= 0.\end{aligned}$$

Next,

$$\begin{aligned}\mathbf{u}_3 \cdot \mathbf{u}_2 &= \left(\mathbf{v}_3 - \frac{\mathbf{u}_1 \cdot \mathbf{v}_3}{\mathbf{u}_1 \cdot \mathbf{u}_1} \mathbf{u}_1 - \frac{\mathbf{u}_2 \cdot \mathbf{v}_3}{\mathbf{u}_2 \cdot \mathbf{u}_2} \mathbf{u}_2 \right) \cdot \mathbf{u}_2 \\ &= \mathbf{v}_3 \cdot \mathbf{u}_2 - \frac{\mathbf{u}_1 \cdot \mathbf{v}_3}{\mathbf{u}_1 \cdot \mathbf{u}_1} \underbrace{\mathbf{u}_1 \cdot \mathbf{u}_2}_{=0} - \frac{\mathbf{u}_2 \cdot \mathbf{v}_3}{\mathbf{u}_2 \cdot \mathbf{u}_2} \mathbf{u}_2 \cdot \mathbf{u}_2 \\ &= \mathbf{v}_3 \cdot \mathbf{u}_2 - \mathbf{u}_2 \cdot \mathbf{v}_3 \\ &= 0.\end{aligned}$$